BID ON: CULINARY EQUIPMENT - VARIOUS HIGH SCHOOLS - CAREER TECH BID NO: 25-33 OPENING DATE: JULY 30, 2025 @ 2:00PM

ITEM	EQUIP. TYPE	MODEL (BASIS OF DESIGN)	NOTES								Quantity					1	
NO.		DESIGNA		Baker	Blou	unt B	ryant	Davidson	MGM	Vigor	Williamson	Bidder	Total	Unit Price	Extended Price	Brand/Warranty	Delivery Time
1	RANGE - CONVECTION OVEN (ELECTRIC)	IMPERIAL RANGE IR-4-G12T-E-C OR APPROVED EQUAL	PRO SERIES RESTAURANT RANGE, ELECTRIC, 36", (4) ROUND ELEMENTS, (1) 12" THERMOSTATIC GRIDDLE, (1) CONVECTION OVEN, (3) CHROME RACKS, 4"W GREASE TROUGH, REMOVABLE GREASE CAN, PORCELAIN OVEN INTERIOR, STAINLESS STEEL FRONT, SIDES, BACKGUARD, KICK PLATE & LANDING LEDGE, 1/4 HP, CETLUS, ETL- SANITATION, CE 208V/60/1-PH, 86.0 AMPS, 16.3 KW	2	-	-	-	-	0	-	-	Singer H&R	2	\$11,987.00	\$23,974.00	Imperial - Limited one year parts and labor warranty, standard	10 Business Days
												Mobile Fixture	2	\$11,835.08	\$23,670.16	Imperial Range - Limited 1 yr parts and labor standard	4-6 weeks
												Equipment Concepts	2	\$12,325.00	\$24,650.00	As Spec'd - One Yr P/L	4-6 weeks
2	RANGE - CONVECTION OVEN (GAS)	IMPERIAL RANGE IR-4-G12-C OR APPROVED EQUAL	PRO SERIES RESTAURANT RANGE, GAS, 36"W, (4) OPEN BURNERS, LOW SIMMER FEATURE, CAST IRON GRATES, (1) 12" GRIDDLE, CONVECTION OVEN, 1/2 HP BLOWER MOTOR, PORCELAIN INTERIOR, (3) CHROME RACKS, 3"W GREASE TROUGH, REMOVABLE GREASE CAN & CRUMB TRAY, STAINLESS STEEL FRONT, SIDES, BACKGUARD, SHELF, 3-1/2"D LANDING LEDGE, & KICK PLATE, 6" LEGS WITH ADJUSTABLE FEET, 178,000 BTU, 52KW, 120V/1-PH, 6.0 AMPS, NSF, CE, CSA FLAME, CSA STAR, NATURAL GAS, 120V/1-PH, 6.0 AMPS, STANDARD, GRIDDLE ON LEFT (STD)	-	2	2	2	-	2	-	-	Singer H&R	6	\$9,176.00	\$55,056.00	Imperial - Limited one year parts and labor warranty, standard	10 Business Days
												Mobile Fixture	6	\$9,059.33	\$54,355.98	Imperial Range - Limited 1 yr parts and labor standard	4-6 weeks
												Equipment Concepts	6	\$9,434.00	\$56,604.00	As Spec'd - One Yr P/L	4-6 weeks
3	RANGE - STANDARD OVEN (ELECTRIC)	IMPERIAL RANGE IR-4-G12T-E OR APPROVED EQUAL	PRO SERIES RESTAURANT RANGE, ELECTRIC, 36", (4) ROUND ELEMENTS, (1) 12" THERMOSTATIC GRIDDLE, (1) STANDARD OVEN, (1) CHROME RACK, 4"W GREASE TROUGH, REMOVABLE GREASE CAN, PORCELAIN OVEN INTERIOR, STAINLESS STEEL FRONT, SIDES, BACKGUARD, KICK PLATE & LANDING LEDGE, CETLUS, ETL- SANITATION, CE 208V/60/1-PH, 79.0 AMPS, 16.3 KW	4	1	1	-	-	1	-	-	Singer H&R	6	\$8,147.00	\$48,882.00	Imperial - Limited one year parts and labor warranty, standard	10 Business Days
												Mobile Fixture	6	\$8,043.78	\$48,262.68	Imperial Range - Limited 1 yr parts and labor standard	4-6 weeks
												Equipment Concepts	6	\$8,377.00	\$50,262.00	As Spec'd - One Yr P/L	4-6 weeks

ITEM	EQUIP. TYPE	MODEL (BASIS OF DESIGN)	NOTES	Quantity												
NO.				Baker	Blount	Bryant	Davidson	MGM	Vigor	Williamson	Bidder	Total	Unit Price	Extended Price	Brand/Warranty	Delivery Time
4	RANGE - STANDARD OVEN (GAS)	IMPERIAL RANGE IR-4-G12 OR APPROVED EQUAL	PRO SERIES RESTAURANT RANGE, GAS, 36"W, (4) OPEN BURNERS, LOW SIMMER FEATURE, CAST IRON GRATES, (1) 12" GRIDDLE, (1) STANDARD OVEN, PORCELAIN INTERIOR, (1) CHROME RACK, ROUND STAINLESS STEEL CHEF'S HANDLE, 3"W GREASE TROUGH, REMOVABLE GREASE CAN & CRUMB TRAY, STAINLESS STEEL FRONT, SIDES, BACKGUARD, SHELF, 3-1/2"D LANDING LEDGE, & KICK PLATE, 6" LEGS WITH ADJUSTABLE FEET, 183,000 BTU, 54KW, NSF, CE, CSA FLAME, CSA STAR , NATURAL GAS, GRIDDLE ON LEFT (STD)	-	3	2	-	1	-	-	Singer H&R	6	\$5,944.00	\$35,664.00	Imperial - Limited one year parts and labor warranty, satandard	10 Business Days
											Mobile Fixture	6	\$5,868.27	\$35,209.62	Imperial Range - Limited 1 yr parts and labor standard	4-6 weeks
											Equipment Concepts	6	\$6,113.00	\$36,678.00	As Spec'd - One Yr P/L	4-6 weeks
5	NEW WORK TABLE	ATOSA SSTW-2460 OR APPROVED EQUAL	MIXRITE WORK TABLE, 60"W X 24"D X 34"H, 18/430 STAINLESS STEEL TOP WITH TURNED DOWN EDGES, 18/430 STAINLESS STEEL ADJUSTABLE UNDERSHELF & LEGS, ADJUSTABLE BULLET FEET, NSF, KD	8	8	1	2	11	1	-	Singer H&R	31	\$261.80	\$8,115.80	Atosa - Mfg 90 days - Singer H&R 1 yr	1-2 Weeks
											Mobile Fixture	31	\$261.80	\$8,115.80	Atosa - 90 Days Warranty on Workmanship - Mobile Fixture 1 Yr	4-6 weeks
											Equipment Concepts	31	\$261.80	\$8,115.80	As Spec'd - One Yr P/L	4-6 weeks
6	NEW WORK TABLE	ATOSA SSTW-2430 OR APPROVED EQUAL	MIXRITE WORK TABLE, 30"W X 24"D X 34"H, 18/430 STAINLESS STEEL TOP WITH TURNED DOWN EDGES, 18/430 STAINLESS STEEL ADJUSTABLE UNDERSHELF & LEGS, ADJUSTABLE BULLET FEET, NSF, KD	-	2	-	-	1	-	2	Singer H&R	5	\$184.01	\$920.05	Atosa - Mfg 90 days - Singer H&R 1 yr	1-2 Weeks
											Mobile Fixture	5	\$184.01	\$920.05	Atosa - 90 Days Warranty on Workmanship - Mobile Fixture 1 Yr	4-6 weeks
											Equipment Concepts	5	\$184.01	\$920.05	As Spec'd - One Yr P/L	4-6 weeks
7	NEW WORK TABLE	ATOSA SSTW-2436 OR APPROVED EQUAL	MIXRITE WORK TABLE, 36"W X 24"D X 34"H, 18/430 STAINLESS STEEL TOP WITH TURNED DOWN EDGES, 18/430 STAINLESS STEEL ADJUSTABLE UNDERSHELF & LEGS, ADJUSTABLE BULLET FEET, NSF, KD	-	2	-	-	-	-	-	Singer H&R	2	\$210.19	\$420.38	Atosa - Mfg 90 days - Singer H&R 1 yr	1-2 Weeks
											Mobile Fixture	2	\$210.19	\$420.38	Atosa - 90 Days Warranty on Workmanship - Mobile Fixture 1 Yr	4-6 weeks
											Equipment Concepts	2	\$210.19	\$420.38	As Spec'd - One Yr P/L	4-6 weeks

ITEM	EQUIP. TYPE	MODEL (BASIS OF DESIGN)	NOTES	Quantity												
NO.				Baker	Blount	Bryant	Davidson	MGM	Vigor	Williamson	Bidder	Total	Unit Price	Extended Price	Brand/Warranty	Delivery Time
8	NEW WORK TABLE	ATOSA SSTW-2448 OR APPROVED EQUAL	MIXRITE WORK TABLE, 48"W X 24"D X 34"H, 18/430 STAINLESS STEEL TOP WITH TURNED DOWN EDGES, 18/430 STAINLESS STEEL ADJUSTABLE UNDERSHELF & LEGS, ADJUSTABLE BULLET FEET, NSF, KD	4	2	1	-	-	-	-	Singer H&R	7	\$237.12	\$1,659.84	Atosa - Mfg 90 days - Singer H&R 1 yr	1-2 Weeks
											Mobile Fixture	7	\$237.12	\$1,659.84	Atosa - 90 Days Warranty on Workmanship - Mobile Fixture 1 Yr	4-6 weeks
			MIXRITE SINK, 3-COMPARTMENT, 90"W X 24"D X 44-								Equipment Concepts	7	\$237.12	\$1,659.84	As Spec'd - One Yr P/L	4-6 weeks
9	NEW 3 COMPARTMENT SINK	ATOSA MRSA-3-D OR APPROVED EQUAL	1/2"H OVERALL, (3) 18"W X 18" FRONT-TO-BACK X 12" DEEP SINK COMPARTMENTS, 18" LEFT & RIGHT DRAINBOARDS, 18 GAUGE STAINLESS STEEL, GALVANIZED LEGS, ADJUSTABLE ABS FEET, NSF & MRPN007-A LEG CROSS BRACE, FITS ON MRSA MODEL SINKS	1	1	-	-	1	-	-	Singer H&R	3	\$682.92	\$2,048.76	Atosa - Mfg 90 days - Singer H&R 1 yr	1-2 Weeks
											Mobile Fixture	3	\$682.92	\$2,048.76	Atosa - 90 Days Warranty on Workmanship - Mobile Fixture 1 Yr	4-6 weeks
											Equipment Concepts	3	\$660.49	\$1,981.47	As Spec'd - One Yr P/L	4-6 weeks
10	NEW MOP SINK	FIAT TSB3000 OR APPROVED EQUAL	FLOOR MOUNTED TERAZZO MOP SINK WITH T&S BRASS #B-0695-ST FAUCET W/ VB @ 90" AFF	1	1	1	1	1	1	1	Singer H&R	7	\$1,036.00	\$7,252.00	Fiat - 1 Yr Warranty	1-2 Weeks
											Mobile Fixture	7	\$1,171.90	\$8,203.30	Fiat - Limited one year warranty	4-6 weeks
											Equipment Concepts	7	\$1,100.00	\$7,700.00	As Spec'd - One Yr P/L	4-6 weeks
11	NEW ONE COMPARTMEN SINK	T ATOSA MRSA-1-N OR APPROVED EQUAL	MIXRITE SINK, 1-COMPARTMENT, 24"W X 24"D X 44- 1/2"H OVERALL, (1) 18"W X 18" FRONT-TO-BACK X 12" DEEP SINK COMPARTMENT, NO DRAIN BOARDS, 18 GAUGE STAINLESS STEEL, GALVANIZED LEGS, ADJUSTABLE ABS FEET, NSF & MRPN007-A LEG CROSS BRACE, FITS ON MRSA MODEL SINKS	4	3	2	2	3	-	-	Singer H&R	14	\$388.96	\$5,445.44	Atosa - Mfg 90 days - Singer H&R 1 yr	1-2 Weeks
											Mobile Fixture	14	\$388.96	\$5,445.44	Atosa - 90 Days Warranty on Workmanship - Mobile Fixture 1 Yr	4-6 weeks
			MUDE QUELVINO DET QUEV (CENTRE L'ESTE CENTRE L'ESTE L'ESTE L'ESTE L'ESTE CENTRE L'ESTE								Equipment Concepts	14	\$366.52	\$5,131.28	As Spec'd - One Yr P/L	4-6 weeks
12	NEW WIRE SHELVING UNIT	WINCO VEXS-2448 OR APPROVED EQUAL	WIRE SHELVING SET, 24" X 48" X 72", 4 TIERS, CAN BE USED FOR ALL ENVIRONMENTS INCLUDING HUMID AREAS, EPOXY COATED, KD, NSF (QTY BREAK = 1 SET)	2	-	1	2	2	-	-	Singer H&R	7	\$191.00	\$1,337.00	Winco - 1 Yr Warranty	1-2 Weeks
											Mobile Fixture	7	\$196.39	\$1,374.73	Winco - 1 yr parts and labor	4-6 weeks
											Equipment Concepts	7	\$250.00	\$1,750.00	As Spec'd - One Yr P/L	4-6 weeks

ITEM	EQUIP. TYPE	MODEL (BASIS OF DESIGN)	NOTES		Quantity											
NO.				Baker	Blount	Bryant	Davidson	MGM	Vigor	Williamson	Bidder	Total	Unit Price	Extended Price	Brand/Warranty	Delivery Time
13	NEW HAND WASH SINK	SERV-WARE HS15S-CWP OR APPROVED EQUAL	SERV-WARE HAND SINK, WALL MOUNT, 14" WIDE X 10" FRONT-TO-BACK X 5-1/2" DEEP BOWL, 7-3/4" BACKSPLASH, LEFT 8 RIGHT SIDE SPLASHES, INCLUDES 4" GOOSENECK FAUCET WITH WRIST BLADE HANDLES, 1-1/2" BASKET STRAINER, MOUNTING BRACKET INCLUDED, 18/304 STAINLESS STEEL CONSTRUCTION, NSF	1	1	1	1	1	1	1	Singer H&R	7	\$212.00	\$1,484.00	Serv-ware - 1 Yr Warranty	1-2 Weeks
											Mobile Fixture	7	\$292.74	\$2,049.18	Serv-Ware - 90 Days Warranty on Workmanship - Mobile Fixture 1 Yr	4-6 weeks
											Equipment Concepts	7	\$275.00	\$1,925.00	As Spec'd - One Yr P/L	4-6 weeks
14	NEW HEATED HOLDING PROOFING CABINET	METRO C519-CFC-4 OR APPROVED EQUAL	C5™ 1 SERIES HEATED HOLDING & PROOFING CABINET, MOBILE, FULL HEIGHT, NON INSULATED, CLEAR POLYCARBONATE DOOR, REMOVABLE BOTTOM MOUNT CONTROL MODULE, THERMOSTAT TO 190°F, FIXED WIRE SLIDES ON 3° CENTERS (18) 18" X 26" OR (34) 12" X 20" X 2 1/2" PAN CAPACITY, 5" CASTERS (2 WITH BRAKES), ALUMINUM, 120V/60/1 PH, 2000 WATTS, 16 AMPS, NEMA 5 20P, CULUS, NSF	-	1	-	-	1	1	-	Singer H&R	3	\$2,322.00	\$6,966.00	Metro - 1 year warranty against manufacturing defects	1-2 Weeks
											Mobile Fixture	3	\$2,085.05	\$6,255.15	Metro - 1 year warranty against manufacturing defects	4-6 weeks
			MIXRITE WORK TABLE, 72"W X 24"D X 34"H, 18/430								Equipment Concepts	3	\$3,200.00	\$9,600.00	As Spec'd - One Yr P/L	4-6 weeks
15	NEW WORK TABLE	ATOSA SSTW-2472 OR APPROVED EQUAL	STAINLESS STEEL TOP WITH TURNED DOWN EDGES, 18/430 STAINLESS STEEL ADJUSTABLE UNDERSHELF & LEGS, ADJUSTABLE BULLET FEET, NSF, KD	1	2	7	6	1	3	-	Singer H&R	20	\$316.40	\$6,328.00	Atosa - Mfg 90 days - Singer H&R 1 yr	1-2 Weeks
											Mobile Fixture	20	\$316.40	\$6,328.00	Atosa - 90 Days Warranty on Workmanship - Mobile Fixture 1 Yr	4-6 weeks
											Equipment Concepts	20	\$316.40	\$6,328.00	As Spec'd - One Yr P/L	4-6 weeks
16	NEW ICE MACHINE	ATOSA YR280-AP-161 OR APPROVED EQUAL	ICE MAKER WITH BIN, CUBE-STYLE 2,689.89 ATOSA USA, INC. MODEL NO. YR280-AP-161 ICE MAKER WITH BIN, CUBE-STYLE, AIR-COOLED, SELF-CONTAINED CONDENSER, 23.7"W X 28.5"D X 38.6"H, PRODUCTION CAPACITY UP TO 283-LB/24 HOURS, 88 LB STORA GE CAPACITY, STAINLESS STEEL EXTERIOR, 6" ADJUSTABLE LEGS, INCLUDES: ICE SCOOP, REMOVABLE AIR FILTER, R290 HYDROCARBON REFRIGERANT, 115V/60/1-PH, 7.2 AMPS, CETLUS, ETL- SANITATION, NSF, ENERGY STAR "(DRAIN REQUIRED).	-	-	-	1	1	-		Singer H&R	2	\$2,480.37	\$4,960.74	Atosa - 2 year labor & parts warranty, 5 years warranty on comperssor	1-2 Weeks
			_								Mobile Fixture	2	\$2,480.38	\$4,960.76	Atosa - 2 year parts & labor warranty 5 year compressor part warranty	4-6 weeks
											Equipment Concepts	2	\$2,486.23	\$4,972.46	As Spec'd - 2 Yr P/L 5 Yr Compressor	4-6 weeks

COMMERCIAL KITCHEN EXHAUST HOOD SCHEDULE

ITEM	EQUIP. TYPE	MODEL (BASIS OF DESIGN)	NOTES	HOOD TYPE]	
NO.				Baker	Blou	unt B	Bryant	Davidson	MGM	Vigor	Williamson	Bidder	Total	Unit Price	Extended Price	Brand/Warranty	Delivery Time
17	EXHAUST HOOD	ACCUREX (A GREENHECK COMPANY), DUO-AIR, SUNAIR, CAPTIVE AIRE OR APPROVED EQUAL. WALL MOUNTED (I SIDE)	HOOD DIMENSIONS SHOULD BE LENGTH 24' WIDTH 5' AND HEIGHT 1.5' WITH AN EXHAUST RATE OF 5160 A SUPPLY RATE OF 4360 AND 120 VOLTS MAX COOKING TEMPERATURE 600 DEGREES F. PROVIDE WITH INTERNAL FIRE SUPPRESSION CHEMICAL CABINET AND SUPPLY AIR PLENUMS. SEE EXHAUST HOOD SPECIFICATIONS	-	-		-	1	-	-	-	Singer H&R	1	\$35,900.00	\$35,900.00	Accurex - 1 year workmanship/material	5 Weeks
												Mobile Fixture	1	\$33,000.00	\$33,000.00	Accurex - 18 months (parts) 30 days (labor)	4-6 weeks
												Equipment Concepts	1	\$38,985.00	\$38,985.00	Accurex - One Yr P/L	4-6 weeks
18	EXHAUST HOOD	ACCUREX (A GREENHECK COMPANY), DUO-AIR, SUNAIR, CAPTIVE AIRE OR APPROVED EQUAL. WALL MOUNTED (1 SIDE)	HOOD DIMENSIONS SHOULD BE LENGTH 20.5' WIDTH 5' AND HEIGHT 1.5' WITH AN EXHAUST RATE OF 4408 SUPPLY RATE OF 3710 AND 120 VOLTS. MAX COOKING TEMPERATURE 600 DEGREES F. PROVIDE WITH INTERNAL FIRE SUPPRESSION CHEMICAL CABINET AND SUPPLY AIR PLENUMS. SEE EXHAUST HOOD SPECIFICATIONS	-	-		-	-	-	1	-	Singer H&R	1	\$34,000.00	\$34,000.00	Accurex - 1 year workmanship/material	5 Weeks
												Mobile Fixture	1	\$31,387.37	\$31,387.37	Accurex - 18 months (parts) 30 days (labor)	4-6 weeks
												Equipment Concepts	1	\$36,895.00	\$36,895.00	Accurex - One Yr P/L	4-6 weeks
19	EXHAUST HOOD	ACCUREX (A GREENHECK COMPANY), DUO-AIR, SUNAIR, CAPTIVE AIRE OR APPROVED EQUAL. ISLAND (2 SIDES)	HOOD DIMENSIONS SHOULD BE LENGTH 11' WIDTH 5' AND HEIGHT 1.5' WITH AN EXHAUST RATE OF 4400 A SUPPLY RATE OF 3700 AND 120 VOLTS. MAX COOKING TEMPERATURE OF 600 DEGREES F. PROVIDE WITH INTERNAL FIRE SUPPRESSION CHEMICAL CABINET AND SUPPLY AIR PLENUMS. SEE EXHAUST HOOD SPECIFICATIONS.	1	1		-	-	-	-	1	Singer H&R	3	\$33,700.00	\$101,100.00	Accurex - 1 year workmanship/material	5 Weeks
												Mobile Fixture	3	\$32,506.00	\$97,518.00	Accurex - 18 months (parts) 30 days (labor)	4-6 weeks
											Baker	Equipment Concepts	1	\$35,995.00	\$35,995.00	Accurex - One Yr P/L	4-6 weeks
											Blount	Equipment Concepts	1	\$36,850.00	\$36,850.00	Accurex - One Yr P/L	4-6 weeks
											Williamson	Equipment Concepts	1	\$36,200.00	\$36,200.00	Accurex - One Yr P/L	4-6 weeks

COMMERCIAL KITCHEN EXHAUST HOOD SCHEDULE

ITEM	EQUIP. TYPE	MODEL (BASIS OF DESIGN)	NOTES													
NO.				Baker	Blount	Bryant	Davidson	MGM	Vigor	Williamson	Bidder	Total	Unit Price	Extended Price	Brand/Warranty	Delivery Time
20	EXHAUST HOOD		HOOD DIMENSIONS SHOULD BE LENGTH 14.5' WIDTH 5' AND HEIGHT 1.5' WITH AN EXHAUST RATE OF 3118 A SUPPLY RATE OF 2580 AND 120 VOLTS. MAX COOKING TEMPERATURE OF 600 DEGREES F. PROVIDE WITH INTERNAL FIRE SUPPRESSION CHEMICAL CABINET AND SUPPLY AIR PLENUMS. SEE EXHAUST HOOD SPECIFICATIONS	-	-	1	-	1	-	-	Singer H&R	2	\$28,600.00	\$57,200.00	Accurex - 1 year workmanship/material	5 Weeks
											Mobile Fixture	2	\$26,440.00	\$52,880.00	Accurex - 18 months (parts) 30 days (labor)	4-6 weeks
										Bryant	Equipment Concepts	1	\$31,895.00	\$31,895.00	Accurex - One Yr P/L	4-6 weeks
										MGM	Equipment Concepts	1	\$30,850.00	\$30,850.00	Accurex - One Yr P/L	4-6 weeks
													Unit Total	Grand Total		
											Singer H&R		\$175,976.77	\$438,714.01		
											Mobile Fixture		\$166,647.69	\$424,065.20		
											Equipment Concepts		\$293,466.76	\$466,368.28		